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PHILOSOPHY
PAPER —1I

Note : This paper contains fifty (50) objective-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Which one of the following ; correctly matched ?
(A) Akasa, Kala, Dik (B) Dravya, Atma, Rasa
(C) Padartha, Guna, Buddhi (D) Prthivi Apa Abhava

2. According to Plato the soul is composed of :
(A) reason, faith and appetite (B) spirit, faith and appetite

(C) reason, faith and spirit (D) reason, spirit and appetite

3.  Russell’s atomic facts are :
(A) facts of atomic physics (B) sense-date

(C) facts in logical space (D) elements of atomic prepositions

4.  Matchaccording to the Nyaya-Vais'esika view List-I (Substances) with List-II (Qualities)
and choose the correct answer from the code given below :

List-1 List-11
(a) Atman (i) Rasa
(b)  Prithvi (i) Sabda
(c) Jala (i) Gandha
(d) Akasa (iv) Jfhana
Code

(@ B (© (@
(A) (v) @) (@) (i)
B (@) @O @) ()
© @ @ @) @)
(D) (v) @) @ @)



LB

TIaA—11
A : WIS # e (50) 9g-fahedia Ue ¥ 1 YA U¥ % & (2) 3k &1 et el ok I
iy
1. fyeifed & 9 &9 @1 ww gafea €
(A) AR, e, fop (B) oA, 3, W
(©) e, T, g5 (D) ge=f, T, ST
2. I& % TER e fAfHa ¥
(A) T, 951 e g1 9 (B) fTog-dw, 951 wd g @
(C) Tk, 951 @ fog-aa 9 (D) Tk, fog-da W@ g 9
3. A % Afosk a4 €
(A) ATifaes ¥ifdet & qeA (B) f=a Yed
(C) difeher fosp ® a=a (D) AT JEATIIST o aw

4. —AF-SRIe o STTER -1 (F41) 1 Geit-11 (1) ¥ afad it iR fefafed g 9
Wéﬁﬁ?ﬂﬁ@:

qer-1 get-11
(a) STcHT @H
(b) gt (i) =
(c) = (i) 7™
(d) e (iv)
FIT :

(@ b (© (@
(A) (v) (@) (@) (i)
(B) @v) @) @) (i)
© G (@@ @) ()
(D) @v) (@) (@ (i)
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Which one of the following pairs is correctly matched ?

(A) Leibniz Pragmatic Theory of truth
(B) Descarts Correspondence theory of truth
(C) William James Coherence theory of truth
(D) Spinoza The self evident theory of truth

Which one of the following pairs is correctly matched ?
(A) Jeon Paul Sortre Existence precuds essence
(B) Edmand Husserl The Vienna circle

(C) G.E. Moore Logical Atomism

(D) AlJ. Ayer Eidetic reduction

Match List-I with List-II and choose the correct answer from the code given below :

List-1 List-11
(a) Gilbert Ryle (i)  Utilitarianism
(b) J. Kant (i) Category mistake
() Jormy Bentham (iii) Picture theory of meaning
(d) Ludving Wittgenstion (iv) Categorical Imperative
Code :

@@ () (o (d)
(A) Gv) () @) (i)
B @O 3G G )
(© @) @@ @ (@)
(D) @) @v) (@) (i)



5. freAfefaa g § 9 St 96 gaferd 82
(A) wEfeTst YA 1 Hafear fagr
(B) <RI g &1 AR fagr
(C) Tafem S/ & o1 Hqea g
(D) e T 1 T -ed fagm

6. TrAfarEd ¥ § 1 TF I gafed 82

(A) S e gt AT |R 1 et ©
(B) TUSHUE gHe g forrm wehet

(C) i m AffSierel TAfHsHA

(D) TS TR srrefes Ream

7. -1 GE-11 9 gafaa sifee R A= fo T % § 9@ W g

get-1 -1l
(a) T wa (i) SYARTER
(b) I 0 (i) Ife QW
(c) i srem (iii)  37ef w1 oA fagT=a
d) Tefar faeimemEA (iv) Frua emew

P.T.O.



8.  Match List-I (Nature of substance and its quality) with List-II (Names of Philosophers/
school) and select the correct answer using the codes given below :

List-1 List-11
(a) Belief in one absolute substance and two (i) Buddhism
relative substances
(b) Denial of substance that has no parimana  (ii) Locke
(c) Ides of substances are obtained through (iii) Descarts
either sensation or reflaction
(d) Denial of substance (iv) Nyaya Vais'esika
Code :
(@ (b (o (@)
(A) @ 6 @) @)
B O @) () G
© (Gi) (v) @) @)
D) Gv) @) G @)

9.  Which one of the following is not correctly matched ?

(A) S. Radhakrishnan (i)  “Classical Indian Philosophy”

(B) Ludning Wittgenstein (ii)  “Philosophical Investigations”

(C) K.C. Bhattacharya (iii) “Studies in Philosophy”

(D) Bertrand Russell (iv) “An Enquiry into Meaning and Truth”

10. Which one of the following is not correctly matched ?

(A) Sabara - Yogabhasya

(B) Vatsyayana - Nyayabhasya

(C) Prasastapada - Kanadabhasya

(D) Sankara - Brahmasutrabhisya



8. Y- (S H WEY R ITHI 01) I FAI-1I (IR & T4/ dyer, 9 gafea
Hifse IR FfafEd $e 9 98 S| g

geE-1 et
(a) T FRU g7 3R < A gl o favamy () de-sEd
(b) afHToT fed g7 ki STEETRfd (i) @M
(c) T & YIF A A Goled g1 A1 R s g0 (i)  qeprd
EIAERES G
(d) ®o I ST (iv) —E-S9fys
He:
(@ @) (© @
(A) () (@) @) (i)
(B) (@) (D) (v) (i)
(© () (@v) () @)
(D) (v) (@) (i) (D)

o o

9. frAfafed § @ St gafad =& €2

(A) Feeel THHTH () ‘‘Fogeer st<aT fraraw’’
(B) T faai=erd (i) TrerEHHa (3HRETIT)
(Q) k.. g (ili) TEIT 7 fhrela®

(D) @< W (iv) T §=aR1 g7l HAT TS 2o

10. fr=ifera & | %A gofera & &2

(A) TR L
(B) d&EEA - RS
(C) WUE - HUIGHT™
(D) ¥ - SRERE™
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11. Which one of the following pairs is correctly matched ?

12. According to St. Aquinsas as the view that the world has 20 begining in time :

(A)
(B)
(©
(D)

13. The theory which holds that the word is not a product of sentence - analysis lent an

List-I List-11
Prabhakara Satkhyati
Naiyayika Anyathakhyati
Samkhya Atmakhyati
Yogacara Akhyati

is contradicted by revelation
would imply that God is not the creator of the world
world contradict the doctrine of ‘creation from nothing’

is a philosophical absurdity

autonomous unit of meaning is known as :

(A)
(©

Abhihitanvayavada (B) Anvitabhidhanavada
Sphotavada (D) Neither of them

14. According to Pontheism God is :

(A)

material cause of the world
efficient cause of the world
both material and efficient cause of the world

neither material nor efficient cause of the world

15. Descartes” method of Doubt is centrally aimed at :

(A)
(©

methodological scepticism (B) self knowledge

systematic discovery of truth (D) rejection of empiricism

16. Husserl’s “phenomenological reduction” is concerned with :

(A)
(B)
(©
(D)

J—0309

reduction of material objects to sense-data
reduction of noumeno to phenomena
isolating the content of experience from any reference to existence

reducing the ending self to discrete mental states

8



11.

12.

13.

14.

15.

16.

frefafaa § & $Fa w39 gafed 72

ger-1 -1l
(A) THTHL HEAnd
(B) Ttk ST
(C) 9=A SATHEATd
(D) IRTEIR sreTta
URTE & TTER 98 7q o ST o 1fe © -

(A) TTeH gRI Wfed Bra1 S

(B) ¥ Wferd S o $¥eR W 1 TEfan TR )
(C) ‘I ¥ gfic’ & Hd =l Gied wam |

(D) T SRifte fodmfa B

)
)

vIsg T TaverT @ Scuel el B € SATg 98 31 il WaA THE € - TS WA ©

(A)  srfufedreserg (B) stf=rdifuermerg
(C) whIearR (D) Swis ¥ @ HE off =&

(A) HHR hI IURH HRI
B) EHR 1 A R
) TUR %1 SURH Ue fafia SR gEi

(
(C
(D) ¥ T YR 1 3UGH &I HHT &R

THI ! HWIA Tl TS B A AR
(A)  FUTANTT H=ES (B) 3T HH
(C) 9 hl G @ISl (D) SAIHAETE 1 TR

THRA & qETEAS T T S ©
(A)  iifces gerelf 1 3f=a yedl # STaeEA

(B) T 1 GUASHI H STI=I
(C) = < fordlt oft w=f | wa T I AT
(D) ¥I¥ed ATcHaRe <hl oI Afeh sroreensti # srae=
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17.

18.

19.

20.

21.

By the expression “the face of entire universe” spinoza means :
(A) the infinite collection of particular extended object in nature
(B) the universe conceived as a single indivisible nature

(C) the way the universe appears to God

(D) the way the universe appears to us

In Hegel the antithesis of being and Non-being is overcome by :
(A) Absolute spirit (B) Pure consciousness

(C) Becoming (D) Self realisation of spirit

Which of the following is not a primary quality according to Locke ?
(A) extension (B) hardness

(C) motion (D) solidity

What leibniz means by “windowless monads” is that monads are :
(A) inherently unconscious

(B) confusedly conscious

(C) incapable of knowledge of the external world

(D) closed to interaction with one another

Which of the following is not a synthetic apriori judgement according to Kant ?

(A) 9+7=16
(B) All bodies have weight
(C) All bodies have specific gravity

(D) Every change has a cause

J—0309 10



17.

18.

19.

20.

21.

‘e fova Y e’ 5w stfrefa @ foien &1 A §
(a) T & fafere o el 1 T e

(B) T AW Tohid & &4 ¥ forxdl &1 w9=

(C) Torwe fore &9 SR i it 2refl €|

(D) fova f &9 & & wdfid 2rar 2 |

I % T W T TS 16 qfde T e ©
(A) TR g B (B) S = H
©) wqfH (D) Tord % seeeehr §

faeiiferd & & 1 T el % AR e T T ¥
(A) fa@r (B) e
© (D) e

‘TTeneree ey’ & wgeTSt o1 aredd T foh faeu €
(A) =I4d ®9 9§ ST=H

(B) U1 &9 ¥ <

(C) <RI S & I § 1&m

(D) &R fsramgfd fshan # srame

FI0E F STTAR =@ # | S i deeroners foe 78 8 2
(A) 9+7=16

(B) Tt oy RaTedt Bt ¥

(C) Gt gl 1 Mmifersh =cd Bl B |

(D) e R o1 R AT 7 |
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22.

23.

24.

25.

26.

According to Hume, the contrary of every matter of fact is possible because :
(A) it can never imply a contradiction

(B) the contrary is never a contradictory

(C) matters of fact are merely historically true

(D) We do imagine contrary - to - fact situations

Who propounds that asecnt without descent is unthinkable ?
(A) Tagore (B) Igbal

(C) Radhakrishnan (D) Sri Aurobindo

The correct sequence of evolutionary journey from Higher mind to supermind of Sri
Aurobindo is :

(A) Highermind, Overmind, Supermind, [lluminedmind, Intuitivemind
(B) Intuitivemind, Overmind, Highermind, Supermind, Illuminedmind
(C) IHluminedmind, Intuitivemind, Overmind, Highermind, Supermind

(D) Highermind, llluminedmind, Intuitivemind, Overmind, Supermind

The correct sequence of three jewels of Jainism is :

(A) Samyaka darshan, Samyaka Jfiana and Samyaka Charitra
(B) Samyaka, Jiana, Samyaka darshan and Samyaka Charitra
(C) Samyaka Charitra, Samyaka Jfiana and Samyaka darshan

(D) Samyaka darshan, Samyaka Charitra and Samyaka Jiiana

Syadvada is :
(A) Sceptical (B) Rationalistic

(C) Empiricist (D) Relativistic

J—0309 12



22.

23.

24.

25.

26.

A & STER T a5 feafa =1 falie gmya § Fif -
(A) I = 1 et oft Fifd T2 T Tehar T

(B) Tl sheft oft =ATeA & B T

(C) a5y feufqar At Ufaerfas €9 & 9 gt € |

(D) =g frarfq & foeft feafa 1 g9 e X Thd B |

i gfqaifed s & T staawor & fom SRgn ifa=moig & 2
(A) &R (B) IHA
(C) THTHFW (D) i srfa<

gt afeare Tt S=aC 71 W AfaH doh SehIdeh! I 1 Wel 9 ©

(A) AR, Ftard, IfarH, ISHAT T STaHiaehed
(C) TaIaHH, STHITARAA, SHEaHd, I=atd, SAfaa

(D) IHAWHA, Yo, STHITRTA, Heard, SAfaed

S & PR fagra R Eel FH ©

(A) F=I% A, I=IF JH Td = AR

(B) HHI% I, TR S T8 I AN
(C) =& 4IfE, T I T 99 S

(D) U= M, TR IR & I=1eh I

W%:
(A) HIare (B) dfgamat
(C) ST 9aaTT (D) ErerETer
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27.

28.

29.

30.

31.

The correct sequence of external aids to yoga of Patanjali is :
(A) Pratydhara, Prandyama, Asana, Niyama and Yama
(B) Pranayama, Pratyahara, Asana, Niyama and Yama
© Asana, Pratyahara, Pranayama, Niyama and Yama
(

D) Yama, Niyama, Asana, Prandyama and Pratyahara,

Who among the following does hold that even the liberated souls differ in degrees :
(A) Sankara (B) Ramanuja
(©) Madhva (D) Gaudpada

Parimana of manas according to Vais'esika school is :
(A) Bibhu Parimana (B) Mahat Parimana

(C) Anuparimana (D) Misra Parimana

Which system among the following holds that liberated souls lack even consciousness :
(A) Nyaya (B) Jaina
(C) Samkhya (D) Yoga

What is the correct sequence of the following ? Choose the correct answer from the
given code :

(i) Bradley
(i) Leibnitz

(iif) Russell

(iv) Hegel

Code

A) @) () @) W)
B @) O ) i)
© @ (v () i)
(D) (i) () @) ()

J—0309 14



27.

28.

29.

30.

31.

TSI o AN % e HIEH! Hl el FH @ ¢
A) TEIRR, oM, e, FE ok am

B) WIUMEM, YAER, 9, fam i 99

~

(
(
(C) T8, YR, o, frem oiR om
(

D) I, fad, 1eH, Jomem iR TemRR

frifera o @ fohmeht o8 wa ® T gaa stremsti ® A 92 S § 2

(A) WFT (B) HI3S
(C) wHa (D) oA
IR < % STTIR T 1 TRATOT Bl §

(A)  fay gftm (B) T Ui
(C) AUl (D) Tag oM

freifera o @ o 91 <9 39 Td 1 TR T § T o ST =aen 718 B ©
(A) =T (B) =M
(C) WA (D) @m

frefafed & 9t w9 #7253 T Fe @ ¥ WA

J—0309 15 P.T.O.



32.  Which one of the following is not the correct sequence ?

(A)  Sainhita, Brahmana, Aranyaka
(B)  Brahmana, Aranyaka, Upanisada
(C)  Veda, Upanisada, Aranyaka

(D)  Sanihita, Aranyaka, upanisada

33. Which one is the correct sequence of the following choose from the code below :

()  Udaharana

(i) Pratijiia

(iii) Hetu

(iv) Upanaya

Code :

A) O @) @) @)
B @) @) @ @)
© G Gv) @) @
D) Gi) v @ )

34. The correct sequence of the following in Buddhist Bhavachakra is :
A)  Sparsa, Vedana, Trusna

(
(B
(
(

Trusna, Vedana, Sparsa

~—"

C) Trusna, Sparsa, Vedana

D) Vedana, Sparsa, Trusna

35. Which one of the following is a correctly matched ?

(A) Whatever is sat is momentary - Jaina

(B) The self of an elephant is bigger than that of an ant - Cavaka
(C) Isvara can perceive with out sense-organs - Nyaya
(D) Inference is not a dependable source of knowledge - Vais'esika

J—0309 16



32. fo=fafad & 9 w9 T 98 %9 T2 82

A) g, SR, SRvIh

B) SIT&IU, 3N, 34U

C) d, IUMEg, ARTIH

D) dfgd, 3TRugehs, Iufug

(
(
(
(

33. freiford o1 Wt A 1 €7 o T Fhe @ WE W I ¢
i) e
I GE |
iii) =g

iv) 39Tg

(
(
(
(

b

34. Sig YAGH HT A FH T :
(A) T, e, o
(B) oM, oI, T
(©)  Fom, TR, e
(D) &, TR, gom

35. frfafead & 4 SE T gafed €2

(A) S & 8 9% &R © -
(B) we H A AA I A A TR - =Eh
(C) sf=al % for $ver <@ we § - =
(D) 3T I 1 favaga &id T § - Sufew

J—0309 17 P.T.O.



36. Match List-I with List-II and select the correct one from the code given below :

List-I List-11
(a) Carvaka (i)  Validity of none of the pramanas
(b) Madhyamika (ii) Validity of pratyaksa only
(c) Vais'esika (iii) Validity of pratyaksa and anumana
(d) Sanikhya (iv) Validity of pratyaksa, anumana and Sabda
Code

(@ B (© (@
(A) @® G @) G)
B @@ @ @) ()
© G @) @ @)
(D) G @ @v) (i)

37. The correct sequence of triple process in evolutionary theory of Sri Aurobindo is :

(A) Widening, Heightening and Integration
(B) Heightening, Widening and Integration
(C) Integration, Widening and Heightening
(D) Heightening, Integration and Widening

The following question (Question No. 38 to 47) consist of two statements one labelled
the “Assertion A” and the other labelled as “Reason R”. Please examine these two
statements carefully and decide if the Assertion A and the Reason R are individually
true and if so, whether the Reason R is a correct explanation of the Assertion A. Choose
your answers using the code below and mark your answer sheet accordingly.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

38. Assertion (A) : Gandhiji identifies God with truth.

Reason (R) : Truth is universal and all pervasive.

J—0309 18



36. YeI-1 % -1 § gafea St o) f=e e 9 w8 S g
get-1 geEr-11

OIEIED () et off HTOT SR SToTeTfreRA

(b) weAHR (ii)  helc YcA&TR! WTHIOTRAT

() dfesw (iii) e SR STHH hY YTHTIOTRAT

(d) g = (iv) Tca&, STIHM Ta ¥eg skl YTHIUTR
¢

(@ () (0 (@
(A @O G
B) @) @ (i)
( (
(

v

(iv)
(iv)
(
(

iii)

C) (i) () ()
D) @ @ @)

iv)

111

37. i enfa< ot form =t Ay sfrn w E@ FU ©
(A) TorEarol, 3= TH GHehe
(B) 3o, for&ior el WA
(C) HHeher, TRl T 3o

(D) o1FH, HHThoH Tl foearo

Fefoafaed a9 (997 Q&I 38 @47 ) W & qawied &1 Uk &t ‘&7 A"’ 30 gav &
““@RUTR '’ el 14T & | FUAT G H1 T AIAETAIge R TRI8T9T & 37 78 (ot &3 foh
FT A 3 FHRUT R Gk Yok et & 37T af gar & ar a7 HRUTR U7 A FT T&l
WETAOT &1 [AEfad de T GET Fd §U T8 IO g 3N 3797 F-UAF
AGTE TR HIHTTI

(A) (A) 3R (R) I W& §, 3R (R), (A) T T& TR T |

(B) (A) 3R (R) I &l ¥, W (R), (A) F TEI TILIHI & T |

(C) (A) T&l T, W (R) T €|

(D) (A) 7 &, g (R) &l

38. YT (A) : TS $YOR & T A § |
FROUT(R) : T Fredi 3R fayg 81
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39.

40.

41.

42.

43.

44.

45.

46.

47.

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

J—0309

Locke made a distinction between primary and secondary qualities.

Locke sought to distinguish between appeornce and reality.

‘All human beings have a right to freedom’ is a moral judgement.

It assets what ought to be.

According to Sartsre, we are responsible for every choice that make.

We feel that we could have done otherwise.

According to Ramaniya Saptabhanginaya is a false theory.

The coexistence of contradicting attributes in one and the same object
at the same time is impossible.

Carvakes argue that anumana is never valid.

They say that the invariable concomittance between the Sadhya and
hetu can never be established.

Descortes conceived of body and mind as entirely different entities
interacting with each other.

Descortes was a rationalist who did not have faith in religious doctrines.

The study of moral philosophy is not worth undertaking.

Moral philosophers disagree with one another on the same moral
issues.

A categorical imperative is an unconditional direction.

A good will is one which acts for the sake of duty alone.

The word Dharma is derived from the root dhr which means to
‘support’ to hold together’.

Caste duties really constitute dharma because they hold together the
community.

20



39.

40.

41.

42.

43.

44.

45.

46.

47.

FPIT(A) :

@NUT (R) :

FPIT(A) :

T (R) :

FPIT(A) :

T (R) :

RIT (A) :

T (R) :

FRIT(A) :

kT (R) :

FRIT(A) :

kT (R) :

RAT(A) :

NI (R) :

FPIT(A) :

NI (R) :

FRIT(A) :

NI (R) :
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e = et Uil SR T ui # 9 fwma

Tieh AT 3T Aedfershal § He e =ed 9 |

‘gl T T T B SATER ¥ T U A i ¥
=g o ¢ fob o g e

ISt o ATHR BH 394 5T TR TTT Fedreh =i o forq Seeredt €
TH e Y § o oF ST $ L §hd 9|

IS & STTIR FE = T fHen fagr 2
T & 9 R e s awg § fadedt qoremf o6t wne-wy sufeufa orEya

ik Tk Sd © foh STTAM it 34 &l S|
3 Hed § fob T iR 7 <k ot om greed et oft Tenfia 6T foRan s geRan |

S T SR < I quia: e T 5o Aan o ST Ok TRt 2 € |

<RI U gfganat o femen wnfte gl # fovam =8 o)

Sfaer <9 w1 21eEE g S TR R
T & Afds T9en & 9R # Afqe gRife WeR qadie W@d 21

frOe eTew T foeerfed e €1
Y ke Had waed o fau & wRRA g 7

o o o1g ¥ oo § TRt o1ef ‘R R, | T R
Sfd hdte o W o © Fifeh of TS il Tk 1Y W4 © |
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Read the following passage and answer questions numbers from 48 to 50.

The corpus of Vedic literature is not a homogeneous collection. Even the Rgveda
alone is a collection of hymns seen or composed in the course of centuries. One can
therefore hardly expect uniform value appreciation in all the works of this literature.
Attempts have been made to show that in the Vedas and upanisads we find evolution
of ideas. There is however remarkable continuity of ideas in the Vedas and the upanisads
inspite of some differences in the views of individual teachers.

48. The vedic literature is not homogeneous because :
A) The literature is voluminous
B) The hymns of the Vedas are composed in the course of centuries

(
(
(C) Veda-Vyasa divided the Vedas
(

D) The literature is very old

49. Which one of the following is correct ?
(A) There is uniform value-appreciation in all the works of Vedic literature.
(B) There is no uniform value-appreciation in all the works of Vedic literature
(C) The Vedic literature possesses no value at all
(

D) The Vedic literature is the creation of finite beings.

50. The attempts to show the evolution of ideas are found in :
(A) the Vedas but not in the upanishads
(B) Dboth in the Vedas and upanishads
(C) the upanishads, but not in the Vedas

(D) neither in the upanishads nor in the Vedas

-00o0-
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frefeTias TensT &1 UgehT 99T W&AT 48 G50 & I SIiT

afeer argHa o THETD TE ¥ 1 o g & T off Tedifsgal bt ety § g8 gu ¥
71 I g | T 39 AT i Wi FieE H THET godi it oTUel Tl ht o Tehdl § 1 Il
3R Sufel # fomml & faepm 1 wefia = o forg fafis woret ol 73 & - T e o § |
Taifa Ffae Tl #i gfe § o 9% T qunfy A< v suftuel & faari # wewye wae €1

48. AfcH ATEHA THEU & & HIh
(A) argTa faene 21
(B) & T Y T wiifeaEl okt et & g ¥
(C) ocea™ A 95 & fawfom foham 21

(D) aTEHEA ATI=H |

49. fr=ifRd & 9 iF T W T2
(A) Tt Sfeeh arg F e e 3§
(B) wrgul dfesh argd # wwew g gfe & ¥
(C) dfcer arga ¥ g gfte & & T |
(D) dfcs argHa it T Hifd Wi gRT 6t T )

50. foe=mi o form ol TR & % ¥9 99 9 G
(A) oI ¥ foreg Sufoel § &

(B) IS IR ufwel ST o

(C) ufwel foheg o # &

(D) 7 Jufoel # oiR 7 351 #

~—"

-00o0-

J—0309 23 P.T.O.



Space For Rough Work



